
  



  



  



  



  

To process 11 spins: ~4 s
For one optimization of 11 spins: ~20 min
To decrease the computation time, the matrix will be split



  



  



  



  



  



  

Will split into 2 sub-matrices: 9-17(9 spins) and 18-19(2 spins)
Note: essentially no coupling between matrices



  



  



  

Identical methyls in submatrix 1; identical methylenes in submatrix 2



  



  



  



  



  

After pressing: ”Process” and “get ROI from spectrum” buttons



  

After picking top of peak

left-click on cell and then ctrl-v



  

Continue left-click;ctrl-v on cells 
(diagonals are chemical shift) 
for all methyl protons 



  



  

All diagonal cells set to same value



  

Hold down ctrl key and left-click on all diagonal cells



  

group&optimize (all chemical shifts are the same)



  



  

After clicking “Process”



  

Process other submatrix



  



  



  

After clicking “get ROI ...” and “Process” keys

Then peak pick



  

Left-click cell and ctrl-v



  



  

Group&optimize
Again, methylene chemical shifts identical



  



  

After clicking “get ROI ...” and “Process” keys



  

Merge submatices



  



  



  

11 spins, but merged matrix
 “Process” is very fast



  



  

After “get ROI ...” and “Process”

Note RMSD



  

Finish by entering Notes



  



  



  

Choose next spectrum



  



  

Important to save current work space



  



  

Next spectrum
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